2025-144 <

Al

-

<0

606-81-017/28

2. MEASEHS

A

4

5.0 # A

nJ

Ul

HiO

Al

6. o

rJ

-

_2_._._

7. A

: 20259 03E 06¢¥ ~ 2028 03& 05¢

i

/|

N[0

o4

LA

N|o

o

|

= g AlRl2] A 40243

al ZF
=

=

A A, H202H 3

20254 03& 06¥




EEN
A 2025-144 =
O 2ABHHBRQUSAHE HE
StEYeFHE A2 HCHA A ZEHA| AECHA| | 7 | SHA| =4t
A LR = B} -
(kg Sb-gq./ton) 2.96E-01 2.15E+00 2 .44E+00
EtA SR
(kg 6.19E+01 3.92E+02 = = 4 54E+02
CO.-eq./ton)
E=Hok
(kg 1.52E-02 2.82E-06 = 1.52E-02
CFC-11-eq./ton)
Richl 330801 | 7.86E-01 i i 1 12E+00
(kg SO.-eq./ton) : : :
2o}
(kg 1.08E-01 1.43E-01 - : 2.51E-01
PO, -eq./ton)
stetAn ]
(kg 6.41E-02 1.26E-02 = . 7.67E-02
C.H.-eq./ton)
==
(m° 3.16E-01 5.13E+00 - - 5.44E+00
H.O-eq./ton)
O 2AFBHHBHRQUSAHE ZE
T2 | SR HEY H|2
LR )SH=EZ | AMHE ok M sS4 98 e 2=z




=S ELUYII=H(O

|5t “QIS7| 202t SHoh it #EGHB| QS-S /2 AHO|5H S 7| 0|2t sith= thg 24 =
o ArtE E4-5t0{0f Bt

Ct.

SIANX B 2| = ZAHEZ ISO 14025(Environmental labels and declarations-Type Il environmental declarations-Principles and procedures)0i| 275045t E(

HER)0IM SHHZ 2Hst1 U= S GHA H=0|Ct St YA ER| = HIE U MB|20| f=afz], i, +5-78, AE, T7| S2| 2E 21 oigt EIeS
AZHo= BAISHO] 2fE YEHR A|Z0) F2fot= H =0l BB A== SHAURZ (V| HE0| 0|2 ), SLAR(+E L #2002 3), g
A= (@722 U AAE0)| 0|2|= ), LES S (CH7| 20 D2|= S), A (ELR-EF0) 0|2|= I, +2 2 +AH0l 0|2|= g, Ti7[2of ]2 = F),
FIASHE L+ 0|2 FE), B3t AR (07| 20] D|2|= Fe) 77HR(0] FRHTE SH A S ERGI0], EaUA=2 HEAASS ZIASICH
ANZ(FH) 0] of2k2 “QUS7| et AS 7|2 o] P EA| QIS0 2t 7|20l M| U o ArEtE FEE A= St

H2z=(H ) O] 222 i QISA Holl 7|AHE QISLH ol Cish M Z& St

HBZ(ZSAIY) AS71Y "2 Cha2l 2 29| AttE &4+510{0} Bt

1. QSA =t AT t”%e e £4°510{0f BTt

2. TS B2 22| (0I5t "2 A[RI702} BT U THBAKIE T|E, DA RYE=S XSS Y50 0F B

3. USAHIEe Yty ’.IJUH7|§§ FA|SHO{OF BHCL.

4 HEYHE2| =0F2 S A1 AE7IFS TS| BI[GHA FAI5H0{0F BiC.

5. ASH = 20t A “QUS7| 20| M 2 Y LISt Y7 L ELE ASt2| YAtO Y2510{0} B

6. ChEt 22 95 2 HAARIS 2|ABl0] “AS 7|2 0l|H| S£25t0{0F BHTt.

7 2 3 Mz O = Y, AISSE 229 B, U, U E= T, Yol ST LU T Y

AHIFOfl Th5to] Q157|2H SO SEYHEA| =0 A0 Thiet MRS A=ttt

HI&(%@’SB.E [ARS 2ot L AL Al FolALR) “AS7I2 a A GHEA| =210
A2 g 2 20| L& S E4°510{0} &Lt

@ SHEGHBEA| =0H2 21922 EE 70| Wt AFZSI0{0} 5101, S E AR 2| 215 PR (0I5 YR 02t Sioh) A3 22 (BHE A BA| BAIYY 2 FENE 24
StOf0F BHCH:

@“US7|Y"2 A1t 2510 HHYHEA| =otS BAGHLE S8 J2BA(0f| et F1E o B2 ASHE L M, AFe ZYEIIEESAT M4 S0 At
S 4= QUCEH CHEL QISA|IF0| Ofel S5t &7 H5hs FR0ile USAIFO| Ot F50| ASAHZ 22 201 =|2| =5 5Hof Bttt

ASZ(HUFA]) US7|2t QUF7 |22 YR Y ST 422t Y2 E H320|A F45HR| =Lt 0] 2R = ¢150| S=2E 20| = FESHA| L Koz dtis)

29 Hiz| or=C}

G oA FOl5h= S 2 “AS7 1Y ST ASM Hofl 71AHE AF0l| &5t HE&|= A0|H, “AS7| Y 0| Yitst= Al dF

2 591 QI35 %2 ofUch

HIZQIBAE H2) “AS7|2'2 9SS we & BN BAIAG ST BA5H0 BAHHE| E010| BAIE 9IZH|S 20| et 2157|200 230l 9t ¥
SOi= Q1571 20| | ABHOF BICH Cot, HZ S44, 712 S2 D2{E T HEAB H20| 0242 FLO= HHLHBA} BAIE HE HBH S SOR ohE 4
olct

A

3= (B 2| 3le| HY) ASI |22 oig M B2l 22| Eu HELHE 7|1F DAL A WGERS B2, “AUS 7170 AW E 2RI B AHLAAIF 7IE

271242 HABHIA SH B2, Q15717 SR 90 WHE| YAIZS MY
£ Z 20l AR LHARLE] 302 O|L0 IS ZIOA HARZES A T5H0/0} BiCk, HBAR

HOZ(AUAB) ASV|Y2 Q%@EEZI
el 2
Ci5H 2l 2 “01=7|9170f| QIC}.

A10Z2QISUY HEH) 2137
graol 2 8E{ 302 OfLiof 1
AN ZEIMAED Y QI=2|A)

®*QI57/8"0] T3 2t 59| of= SHLtol HTE F, “AS7|2'S 2B 7|0l 2 AnT 49Uk
1. BZYHBAS AZHO| ST 22 A8 Y2

2. B HEZ| =oh2 2 W"I t"E 7LPEPE71IM oER

S ,US7lErE <l g USE Fag 4 2
1R YYo= S S ER
2. Q39| L8} CIE AF0l| S dHBAE BAISIH ReAlPI= 89
3. QEE L2 HSS JAMAIHOILE O Bre] 0|8 ALFRI0] 13 01 FEAIZIA| 42 3R
4 2= - HYO|LE 1 Bof 0|2t RAMR AFRZ S-S T2 AIFO| Wito] Aty STE 32
5. UEE L2 AIF0| LS9 U CHE AIFQA B2

@ ZAYY Y 1A 50| E=2 20| FYE A ST 2 27| F0)| wH2Lt,

A122(HHLD)

D “QZ7|Y2 QIZA|Z0| TSt Q1Z7|2H B2 2 QI1Z0| ZR&|ALE A1 124280 w2t 0120| 2| AE ZR0|= AR SAMLHER| AZSHECR 2008 4 QU=
OfEfe] HA| Y B1E StOiA= oF Eict

@“QIZ7|Y"2 A 182 O|35HA| OfLISH0] “QIZ7|2H"0|Lt AH| [0 £3HE 7| RS FR0e Mol M2 24 S U ArAR| 241G RICH
A3RELHY) ASHE 2t HASIO] 4|2t QIS 7| ALO|Of| A LA BH= E240] TSt YH|of 22 “°I57|a”01|71| %Er
1422 Sx & 22|) QUS| QUS M| He AL HHZ| ALBHEE A3 2 = 25
A152 0|32 3) 0] A2k0l| Z3I2| OfLISH AISHR “QIZ7|Q" 2} “QIZ7| 27t AT §o| L A2
S50 BiCt.

I'

re

Hote| ‘”H*OI 9| H0| "*0|°*EEH01|" “°|17|*PO ol

ﬂJ|0

;




L (N [ W [, W [ W [ W [ W [ W [ W W 0 W O (W W O W O W

NO. 2025-144

CERTIFICATE

This is to certify that
KOREA STEEL Co.,Ltd.

98, Gongdandong-gil, Chilseo-myeon, Haman-gun, Gyeongsangnam-do,

Republic of Korea
is a acknowledged by the Environmental Product Declaration for

Reinforcing Bar

in accordance to 'Environmental Technology and Inustry Support
Product Declaration Label for

2025.03.06. ~ 2028.03.05.

ADP : 2.44E+00 kg Sb-eq./ton AP : 1.12E+00 kg SO,-eq./ton
GWP : 4.54E+02 kg CO.-eq./ton EP: 2.51E-01 kg PO.’-eq./ton
ODP : 1.52E-02 kg CFC-11-eq./ton POCP : 7.67E-02 kg C.H,-eq./ton

WEF : 5.44E+00 m® H.O-eq./ton

Wﬂa%

Heung Jin Choi, President

KOREA ENVIRONMENTAL INDUSTRY &
TECHNOLOGY INSTITUTE

LA [ o, [ [ [ [ T ) ) T T ) T, T ) T T ) T ) [ T [ T

B 0 B D S D B S L D S L

{81 [ [, [ T T T [ T ) T T T T ) T, T ) T T ) T T T, T T T T




L8 (N [ W [, W [ [ W [ W [ O, (W O, W O, W [, W [, W [ W [ W [ W

Agreement on Certification of Environmental Product Declaration

Korea Environmental Industry and Technology Institute (hereinafter referred to as the Insticute) and Parties certified for Environmental
Product Declaration (hereinafter referred to as Certified Parties) shall comply with provisions set forth in each of following articles.

Environmental Product Declaration(EPD) scheme by the Ministry of Environment based on 1SO 14025(Environmental labels and declarations-Type II
environmental declaration-Principles and procedures). EPD is to calculate the environmental effect of the life cycle of a product including raw materials
input, production, transportation, distribution, use, and disposal and label it on the product. EPD scheme consists of the total 7 categories such as carbon
footprint(impacts on climate change), water footprint(impacts on water quality and water resources), resource footprint(impacts on waste generation and
resource circulation), ozone layer depletion(impacts on air quality), acidification(impacts on environment), eutrophication(impacts on water quality and
water resource) and photochemical smog(impacts on air quality) and Carbon Footprint is classified into Carbon Footprint(Phase I) and Low-Carbon
Product Certification.(Phase II)

Article 1 (Purpose) The purpose of this Agreement is to specify basic rights and obligations of the Institute and Certified Parties in relation to EPD certification.
Article 2 (Scope of Application) This Agreement shall be applied to details of certification listed in the respective certificate.
Article 3 (Terms of Compliance) Certified Parties shall comply with each of following items.

(D Certified Parties shall comply with the certification system and related laws at all times.

(2 Certified Parties shall manufacture products in compliance with certification standards.

(3) Certified Parties shall maintain manufacturing and selling records of certified products.

@) Certified Parties shall attach EPD label by clearly marking environmental records and application standards on the label.

(3) Certified Parties shall cooperate with regular and irregular follow-up verifications conducted directly by the Institute in relation to the certification system operation.

) Certified Parties shall notify the following changes to the Institute without delay.

1. Change of the representative, change of the company name, transfer or change of the manufacturing plant, bankruptey, transfer, acquisition or merger of the certified organizations or production suspension
and business shutdown
2. Changes of production processes, facilities, techniques or raw and subsidiary materials

(@) In the event certification is terminated or cancelled, Certified Parties shall suspend the use of all advertising materials that are related to acquisition of the certification.

Article 4 (Right to EPD Usage and Note for Usage) Certified Parties hold the right to use EPD label design during certification period of the respective certified product. For the use of EPD label design, the
following shall be observed.

(D) EPD label design shall be used as specified in Annex 6 of the Regulations on the Operational Procedure of EPD (hereinafier referred to as the “Notification”) and shall be complied with in Article 40 (EPD
label marking and design) on Operational Regulations of EPD (hereinafter referred to as the ‘Operational Regulations)

(@ With regard to Paragraph 1, when marking EPD label design or making advertisements using their EPD as certified companies, the Certified Parties can use the markings or advertisements in certified
products and manuals or packaging, containers, promotional materials or various forms associated with the products. However, in any of following cases, attention shall be paid to not misleading consumers into
recognizing uncertified items as certified products.

Article 5 (Confidentiality) Certified Parties and the Institute shall not disclose each other’s information obtained in the course of operational procedures to a third party, This obligation is valid even after the
certification is terminated. However, legitimately generalized information or information obtained irrelevant of operational procedures are not subject to this clause,
Article 6 (Limitation of Certification) Certification granted by the Institute to Certified Parties is applied 1o products listed in the respective certificate of the Certified Parties and is not to approve or certify all
products manufactured by the Certified Parties,
Article 7 (Submission of Certified Products) When requested by the Institute in relation to EPD label markings following a certification, the Certified Parties shall submit the certified products that are marked
with EPD labels. However, in the event it is difficult to submit a sample of product by reason of characteristics and price of the product, it can be replaced with submission of a product manual where EPD label is
marked.
Article 8 (Change of the Relevant Guidelines) In the event certification guidelines or low-carbon guidelines for a product have been changed (revision or establishment as a new items), the changes shall be
notified to the Certified Parties by the Institute
Article 9 (Renewal) In the event the Certified Parties wish to extend EPD period, the parties shall apply for a certification renewal 90 days before termination of the certification.
Article 10 (Changed Certification) In the event details of the certification have heen changed, the Certified Parties shall apply for change or reissue of certification to the Institute within 30 days from the time
reasons for the change occurred. Responsibilities for all disadvantages caused by failure of applying for the certification change or reissue within 30 days from the time reasons for the change occurred shall be
assumed by the respective Certified Parties.
Article 11 (Demand for Correction and Certification Cancellation) () In the event Certified Parties fall under any one of following items, the Institute can demand correction to the Certified Parties.

1. In the event EPD is used differently from specifications in the certificate

2. In the event EPD label design is used differently from specifications in the Annex Table 6

3. In the event matters for compliance set forth in the Article 3 are not fulfilled

4. In the event consumers’ substantiated claims for indemnification with respect to Article 13 are not responded to

5. In the event exaggerated advertisement (including those for distributors, such as sales agencies and commissioned agents) may lead to clouding consumers’ judgment

(@ In the event the Certified Parties fall under any of following subparagraphs, the Institute can cancel certification for the Certified Parties.

1. In the event certification has been obtained by unlawful means

2. In the event EPD label is marked on materials or products that are different from the specifications in the certification or products are marked with details different from the EPD certificate and distributed

3. In the event products certified with EPD are not distributed for one year or longer without the reasons of natural disasters or other unavoidable circumstances

(3 If dispositions are stipulated separately in the relevant laws or announcements, the respective dispositions shall be followed.

Article 12 (Relevant Operations) (U In the event certification period of a certified product expires or the certification is cancelled, the Certified Parties shall not make any markings or use advertisements that can
mislead consumers into considering that the products are certified with EPD.

(2 In the event damages are inflicted on the Institute or consumers by reason of noncompliance with Paragraph 1 above, the Certified Parties shall assume the necessary civil and criminal responsibilities, such as
for indemnification by law.

Article 13 (Responsibility for Indemnification) All responsibilities for conflicts occurring in between consumers and the Institute in relation to certified products shall be assumed by the Certified Parties.
Article 14 (Prohibition of Transfer of Right) The Certified Parties are prohibited of transferring or reselling their right to use EPD set forth in the certificate to a third person or of using the right by proxy.
Article 15 (Mediation for Conflict of Interest) Matters not set forth in this Agreement shall be handled through consultation and operational regulations between the Institute and the Certified Parties: Provided
That, when there are different opinions, the opinion of the Institute shall be respected.

(AL [ o, T o [ [ [ [ [ [ [ [ [ [ [ T [ [ [ [ [ [ [

N M O HCH M H RO HOHCHEHCH R

{8 [ o, T T T [ T [ [ [ T [ [ T T T [ [ [




